





200 Questions

Que. 1 Directions: Study the following information carefully to answer the given questions:

Pink, Green, Blue, Grey and Yellow - but not necessarily in the same order.

Eight friends - P, Q, R, S, T, U, V, and W - sitting around a circular table, but not necessarily in the
same order, and all of them facing inside the table. All eight friends likes different colors - Red, Black, Silver,

P likes Red color and sits second to the left of U. W sits second to the right of T and likes yellow color. T sits
between P and U. Q sits opposite to P and likes Pink color. S sits between R and V and likes Silver color. S
sits third to the left of T. R is not immediate neighbour of Q. Person sits opposite to V likes Green color.

person sits immediate to P likes Black color. U does not like grey color.

How many persons are sitting between P and R when it counted anticlockwise direction from P?
1.
2.
3.
4,
5.

One

Two

zero

Six

None of the above

Correct Option - 4

Que. 2  Which color is like by U?

1.
2.
3.
4.
S.

Blue
Pink
Yellow
Red
Black

Correct Option - 1

Que. 3 Who sits opposite to T?

U
\%
R
w

S

Correct Option - 2

Que. 4 Who sits second to the left of R?

Q

cCs o<

Correct Option - 2

Que. 5 Who sits second to the right of the person who sits opposite to S?
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5.
Correct Option - 3

Que. 6 Three statements are given, followed by three conclusions numbered I, 11 and 11l. Assuming the
statements to be true, even if they seem to be at variance with commonly known facts, decide which
of the conclusions logically follow(s) from the statements.

Statements:

All Creta are Cruz

Some Cruz are Eon

All Eon are Black

Conclusions:

I. Some Cruz are Black.

1. No Black is Creta.

I11. Some Creta are Eon.
1. Only conclusion I follows.
2. Either conclusion Il or 111 follow.
3. Only conclusions Il and 111 follow.
4. Either conclusion I or Il follow
5. None of these

Correct Option - 1

Que. 7 Direction: In each of the following questions, there are three statements which is followed by three
conclusions. Choose the conclusions which logically follow from the given statements.

Statements:
No Flower is Vegetable.
All Vegetable are Egg.
Some Flower are Fruit.
Conclusions:
I. All Egg are Vegetable.
I1. Some Fruit are Vegetable.
I11. No Fruit are Vegetable.
1. Only conclusion I follows
2. Only conclusion Il follows
3. Only conclusion 111 follows
4.  Either conclusion Il or I1 follows
5. None of the conclusion follows
Correct Option - 4

Que. 8 Direction: In each of the following questions, there are three statements which is followed by three
conclusions. Choose the conclusions which logically follow from the given statements.

Statements:
No Black is Red.
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No Red is Yellow.
Some Yellow are Green.
Conclusions:
I. Some Green are Red.
I1. No Black is Yellow.
I11. All Red are not Black.
1. Only conclusion I follow
2. Only conclusion 11 follow
3. Only conclusion 111 follow
4. Either conclusion Il or 111 follow
5. Either conclusion | or Il follow
Correct Option - 3

Que. 9 Direction: In the question below are given three statements followed by three conclusions I, Il and

I11. You have to take the given statements to be true even if they seem to be at variance from
commonly known facts. Read all the conclusions and then decide which of the given conclusions logically
follows from the given statements disregarding commonly known facts.

Statements:
Some ties are shirt.
Some shirts are papers.
Some papers are copper.
Conclusions:
I. Some copper are shirts.
Il. Some copper are ties.
I11. No copper is shirt.
1. Only conclusion I follow
2. Only conclusion Il follows
3. Only conclusion 111 follows
4.  Either conclusion I or conclusion Il follows
5. Either conclusion I or conclusion 11 follows
Correct Option - 5

Que. 10 Directions: In the question below are given three statements followed by three conclusions. You

have to take the given statements to be true even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide which of the given conclusions logically follows from
the given statements disregarding commonly known facts.

Statements:
Some Cars are Vehicles.
Some Vehicles are not Motors.
All Motors are Cycles.
Conclusions:
I. Some Cycles are Motors.
I1. All Vehicles being Cycles is a possibility.
I11. Some Cars are not Vehicles.
1. Only Conclusion I follows
2. Only Conclusion II follows
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3. Both Conclusion I and Il follows

4. Both Conclusion I and 11 follows

5. Both Conclusion Il and 1l follows
Correct Option - 3

Que. 11 How many pairs of letters are there in the word “DECATALON” that have the same number of
letters between them in the word (in both forward and backward directions), as they have in the
English alphabetical series?

1. Three
2.  Four
3. One
4. Five
5. Six

Correct Option - 4

Que. 12 Directions: Study the information carefully and answer the questions given below.

There are seven persons who are working in the same company on different designations and the
person who is working on that designation is named A, B, C, D, E, F, and G but not necessarily in the same
order. They have different designations starting from the clerk, officer, Assistant Manager, manager,
Assistant General manager, General manager, Director. Director is the topmost post of the company and the
clerk is the lowermost post of the company.

The number of designations above C is the same as the number of designation bellow C. B’s and F’s
designations is not near to C. The number of person designations between F and B is three. D is at the
topmost position. A is senior to G. Three persons sit between A and G. F’s designation is not near to A.

Which of the following person is Officer?

1. B
2. A
3. F
4. E
5. G

Correct Option - 3

Que. 13 How many designations are there between B and C?

1. None
2. One

3. Two

4. Three

5.  More than three
Correct Option - 2

Que. 14 Cis on which position?
1. Director
2. Assistant General manager
3. Manager
4.  Officer
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5. Clerk
Correct Option - 3

Que. 15  Which of the following statement is true regarding G?
I) G is working at the topmost rank in the company.
I) There is only one designation between G and E.
I11) G's designation is just below Officer.
1. Onlylistrue
2. Only Il is true
3. Only Il is true
4. Both land Il is true
5. Both Il and 11 is true
Correct Option - 5

Que. 16 Four of the following five are alike in a certain way and hence form a group, which of the
following does not belong to the group?

1. DA
2. BC
3. EG
4. CF
5. AG

Correct Option - 5

Que. 17 Directions: In the question below, a passage is given followed by three assumptions numbered |
A1 and I11. An assumption is something supposed or taken for granted. You have to consider the
passage and the following assumptions and decide which of the assumptions is implicit in the passage.
Passage:

Telecommuting, also called telework, teleworking, working from home, mobile work, remote work, and
flexible workplace, is a work arrangement in which employees do not commute or travel to a central place of
work, such as an office building, warehouse, or store.

Assumptions:

I: Telecommuting companies allow their employees’ freedom to work from anywhere.
I1: People working in telecommuting companies incur fewer travel expenses.

I11: Telecommuting companies offer high salaries.

1. Onlyl

2. Onlyll

3. Only 1l

4.  All except Il

5. All follows
Correct Option - 2

Que. 18 Directions: The critical reasoning question is based on a short passage, an argument, a set of
statements, or a plan of action. For each question, select the best answer of the choices given and
explain why the chosen answer is the right fit.
Passage: Various studies have recently pointed out the importance of mental health, especially peace of
mind, for work productivity and efficiency. They have time and again stressed that sound work comes from a
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sound mind. Company ABC has decided to go ahead and implement mandatory 15-minute meditation for all
employees prior to the start of work.

Which of the following assumptions hold?
Meditating for 15 minutes is enough to ensure peace of mind at workplace.
Employees resist mental health practices at workplace and consider it an intrusion on their freedom.
Not a single employee in the company is meditating in their own home.
Employees who work often get tired and complain about it.
5. Employees who meditate can sleep better than Employees who don't meditate.
Correct Option - 1

NP

Que. 19 Directions: Read the information carefully and answer the following questions

There are ten members A, B, C, D, E, F, G, H, I and K in a family. G is the husband of C, who is
the grandmother of H and A is the father of H. E is the wife of B and daughter in law of F. D is the daughter
of B. | is the husband of D and G is the brother of K. B is the brother of C and there are three couple in the
family.

How 1 is related to E?

1. Sonin law

2. brother in law

3. Nephew

4. Son

5. Cannot be determined
Correct Option - 1

Que. 20  Who is married to E in this family?
1. D
2. C
3. B
4. G
5 |
Correct Option - 3

Que. 21 What is the relation of K with G?

1. Brother
2. Cousin

3.  Sister

4. Father

5. Cannot be determine
Correct Option - 5

Que. 22 How many grandchildren C does have?

1. One
2. Two

3. Three
4. Four

5. None
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Correct Option - 1

Que. 23 How is G related to A?

1. Grandfather
2. Father

3. Uncle

4. Son

5. None of these
Correct Option - 2

Que. 24 Directions: Study the following information carefully and answer the questions given below:

Nine people P, Q, R, S, A, B, C, D, and E are standing in a straight line. Some are facing north and
some are facing south direction, but not necessarily in the same order. Not more than two people are standing
adjacent to each other are facing the same direction. People standing on the extreme ends of the line are
facing the opposite direction. Two people are standing between R and E, R is standing at the extreme end of
the line. P is standing fifth to the right of R. A is facing north direction. C is standing to the immediate left of
E who is facing north. Three people are standing between C and B. Immediate neighbors of D faces opposite
directions to each other. Five people are standing between D and A, A is not an immediate neighbor of
neither C nor R. Q is standing third to the left of E.

Who is standing fourth to the right of C?

1. P
2. A
3. R
4. B
5. D

Correct Option - 4

Que. 25 How many people are standing between P and R?

1. Two
2. Five

3. Four

4. Six

5. One

Correct Option - 3

Que. 26 Which of the following pairs is standing to the immediate right of the person who is standing at the
extreme ends?

1. AP
2. QS
3. DS
4. CP
5. DA

Correct Option - 5

Que. 27  Four of the five are alike in a certain way. Which of the following does not belong to that group?
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5 R
Correct Option - 4

Que. 28 Who is standing exactly between Q and S?

1. A
2. C
3. E
4. P
5. R

Correct Option - 2

Que. 29 Direction: In the following question assuming the given statements to be true, find which of the
conclusion among given conclusions is / are definitely true and then give your answers
accordingly.

Statements:
B>A>T>S5; T<K=P<M
Conclusions:
.S=K
I.S<P
. A>M
1. Onlylistrue
2. Only Il is true
3. Only Il is true
4. Either I or Il is true
5. None is correct
Correct Option - 2

Que. 30 1. Directions: In the following question assuming the given statements to be True, find which of the
conclusion among given conclusions is / are definitely true and then give your answers accordingly.

Statements: M<D=N; X=Y<L<E;Y<D
Conclusions:

ILE>N

Il. X<D

N.N>X

1. Onlylistrue

2. Bothland Il are true
3. Both Il and Il are true
4. Neither Il nor Il is true
5. Both I and Il are true

Correct Option - 3

Que. 31
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Directions: In the following question assuming the given statements to be true, find which of the
conclusion among given conclusions is/are definitely true and then give your answers accordingly.
Statements: D=0, E=X<M, M>Q>0>K
Conclusions:

I.M>D
I.E>K
. K>D

1. Noneis True

2. Onlyland Il are True
3. OnlyIlis True

4. Only l'is True

5. Either I or Il is True
Correct Option - 4

Que. 32 Directions: In the following question assuming the statements to be true, find the conclusion
which is/are correct and answer accordingly.

Statement: O>N<M=L <K =1
Conclusions:
I.K>0
I.1=M
LN <K
1. Both conclusion I and 111 follow.
2. Only conclusion Il follows.
3.  Either conclusion I or conclusion Il follows.
4. Both conclusion Il and 11 follow.
5. Only conclusion 111 follows.
Correct Option - 5

Que. 33 Directions: In the following question assuming the given statements to be True, find which of the
conclusion among given conclusions is / are definitely true and then give your answers accordingly.
Statements: EXL<M; X>B>D>E
Conclusions:
I.X>M
In.M<X
I.B>L
1. Either Iand Ilis True
2. Onlylistrue
3.  Only Ilistrue
4, Only Il is true
5. Noneis True

Correct Option - 5

Que. 34 f it is possible to make only one meaningful English word with the 15¢, 3™, 4™ and 71" letters of

the word PHOTOGRAPHY, which of the following will be the first letter of that word? If no such
word can be made give ‘X’ as the answer and if more than one such word can be made give ‘Y’ as the
answer.
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Correct Option - 5

Que. 35 Direction: Study the following information to answer the given questions:

There are seven persons — M, N, O, P, Q, R and S, have interviews on different days of a week
starting from Monday to Sunday not necessarily in same order. Each of them has interview of different banks
among, Axis, BOB, HDFC, ICICI, Kotak, PNB and SBI.

P’s interview is before M’s interview. R’s interview is two days after N’s interview. O has interview on
Tuesday. N has interview three days before the one, who has interview of Kotak bank. Q has interview of
HDFC but not on Monday. S has interview of PNB bank after N’s interview but not on Sunday. At least two
persons have interview before N’s interview. P has interview of neither BOB nor Axis bank. BOB bank’s
interview is just before the SBI bank’s interview.

Who has interview on Monday?

1. N
2. M
3. O
4 Q
5 P

Correct Option - 5

Que. 36 R has interview of bank.
1. BOB
2. Axis
3.  Kotak
4. HDFC
5. SBI

Correct Option - 2

Que. 37 How many persons have interview between the interviews of N and Q?

1. Two
2.  Four

3. One

4. Three

5. Five

Correct Option - 4

Que. 38  Which of the following pair is correct?

1. S, Kotak
2. Saturday, N
3. O,PNB

4. Friday, R
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5.

P, Thursday

Correct Option - 4

Que. 39 On which day does M has an interview?

1.
2.
3.
4.
5.

Monday
Wednesday
Saturday
Friday
Sunday

Correct Option - 3

Que. 40 Direction: Study the following information carefully and answer the questions given below.

‘each life is very important' is written as ‘eh bb ab cd ef,
'life depends on our exercise' is written as ‘bb ds nn pi ex’,
‘exercise is important for our habit’ is written as ‘ex ab ef fr pi ht” and

‘our life must be happy’ is written as ‘pi bb mt ee hy’.
What is the code for ‘important' in the given code language?

5.

> wn e

In a certain code language:

fr
ef
ab
pi
Either (2) or (3)

Correct Option - 5

Que. 41 What is the code for ‘important life' in the given code language?
1.
2.
3.
4.
5.

ef bb
cd ds
ex ef
ef ab
Cannot be determined

Correct Option - 5

Que. 42 What is the possible code for ‘our exercise good' in the given code language?
1.
2.
3.
4.
5.

pi ex gp
bb pi ab
pi ex eh
ab ex ab
None of these

Correct Option - 1

Que. 43  What is the code for ‘is' in the given code language?
1.
2.
3.

bb
pi
ex
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4. Either ab or ef
5.  None of these
Correct Option - 4

Que. 44 In the given word ‘COMMUNITY” if the vowels are changed to the next letter and the consonants
are changed to the previous letters as per the alphabetical series, and alphabets are arranged in

alphabetical order from left to right then which letter would be 41 to the right of 3" Jetter from the left end?
1.

2. X
3. T
4. L
5. S

Correct Option - 5

Que. 45 Acid rain is any form of precipitation with high levels of nitric and sulfuric acids. It can also occurs

in the form of snow,fog and tiny bits of dry materials that settle on the ground. rotting vegetation
and erupting volcanoes release some chemicals that causes acid rain but majority is because of the human
activities such as burning of fossil fuels, factories and auto mobiles. Acid rain has many ecological effects,
few of which are given below.

Which of the following, if true, would weaken the conclusion about the effects of acid rain on the
environment?

1. Acid rain makes water acidic and causes them to absorb the aluminium which makes it toxic for
aquatic animals.

2. It increases the corrosion rate of buildings made of limestone, sandstone and marble.
Acid rain damages trees at high elevations.

If humans by mistake consume such water causes illness and premature death from heart and lung
disorder.

5. Acid rain damages on the vehicles can be eliminated by covering them during precipitation events.
Correct Option - 5

Que. 46 Directions: The critical reasoning question is based on a short argument, a set of statements, or a
plan of action. For each question, select the best answer of the choices given and explain why the
chosen answer is the right fit.

Statement: A private hospital is a hospital-owned and operated by an organisation other than the state and/or
which provides care funded other than by the state, for example, funded by patients themselves, by insurers,
or by foreign embassies.

Which of the following statements strengthen the fact of privatizing the hospitals?
1. Private hospitals take high fees for the surgeries and operations they perform.

2. Private hospitals are the best when it comes to proper maintenance, basic health facilities and choice
of best doctors and surgeons.

3. Public hospitals are mostly free or charge a very meager amount for the treatment.
4.  All of these
5. None of these

Correct Option - 2

Que. 47 Directions: In the question, a statement is given, followed by two arguments, | and I1. You
have to consider the statement to be true even if it seems to be at variance from commonly
known facts. You have to decide which of the given arguments, if any, is a strong argument.

Page - 12



Statement: Should the online mode of learning continue even in the Post pandemic times.
Arguments:
I. Yes, this brings down a remarkable reduction in the cost of education.
I1.No, peer to peer learning is hampered.
Only I is strong.
Only I1 is strong.
Either I or Il is strong.
Both arguments are strong.
5. Neither argument is strong.
Correct Option - 4

NP

Que. 48 Directions: Study the following alphabet series and answer the questions that follow:
PLMOKNIJBUHVYGCTFXRDZESWAQ

In the given series, if every vowel is replaced with the letter next to it in English alphabetical series and every
consonant is replaced with letter immediately before it in English alphabetical series, then how many vowels
are immediately followed by another vowel in the new arrangement?

1. One
2. Two
3. Three
4. None

5. More than three
Correct Option - 1

Que. 49 If every alternate letter starting from the first letter in the series is replaced with the letter
immediately following it in the English alphabet series, then which letter is tenth to the left of third
letter from the right end?

1. B
2. G
3. X
4. W
5. Q

Correct Option - 2

Que. 50 How many letters are there in the English alphabetical series between the tenth letter from the right
end and the eleventh letter from the left end?

1. Two
2. Five
3. Seven
4. One
5. Four

Correct Option - 4

Que. 51 Direction: Read the passage given and answer the questions that follow. Some words are
highlighted for you. Kindly pay attention.
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India may well win an elusive, and prized track and field Gold at the coming Tokyo Olympics, which would
be the only fitting tribute to Milkha Singh, the incomparable athlete who died of Covid-19 at the age of 91 on
Friday. For a man who came to be known as the Flying Sikh, running began in his poverty-stricken school
days when he ran 10km to and from school in Muzaffargarh (now Pakistan). His family was killed during
Partition, and Singh, who escaped to India, stumbled on running as a sport during his military training days.

Milkha Singh was never one to rest on his laurels. By 1958, two national records for the 200m and 400m
were in the bag, and he had become India’s first Commonwealth Games gold medallist. But, Singh’s greatest
performance ever was perhaps in the 1960 Olympics in Rome, where he missed the bronze by a
heartbreaking 0.13 seconds. In a tribute, Otis Davis, who won that race, described Singh as a great and very
fast runner. Generations of Indians, and almost every Indian sportsperson from PT Usha to Dipa Karmakar to
Sachin Tendulkar, have drawn inspiration from him

Though Partition robbed Singh of his most priceless possession, his parents and extended family, he held no
bitterness against Pakistan from where he had to flee, as captured in the film, Bhaag Milkha Bhaag. He said,
“Whenever | ran, India and Pakistan both ran with me”. His duel on the track with Pakistan’s great athlete
Abdul Khalig, whom he beat in Lahore in a photo finish, led that country’s then president Ayub Khan to tell
Singh, “You did not run today, you flew.” Milkha Singh has flown away, leaving a nation in debt and grief.

Milkha Singh famously came to be known as?
Incomparable Sikh
Incomparable athlete
Flying Sikh
Flying athlete
5. None of the above
Correct Option - 3

e

Que. 52 "You did not run today, you flew." Who said this to Milkha Singh?

1. Abdul Khaliq
2. Otis Davis

3. Dipa Karmakar
4.  Ayub Khan

5. none of these
Correct Option - 4

Que. 53  Which of the following is the most similar in meaning to the word 'tribute'?
1. honor
2. reprimand
3. condemnation
4. rebuke
5. none of these
Correct Option - 1

Que. 54 What is the synonym of 'stumbled"?

1. rise
2. trip

3. overlook
4. fix

5. none of these
Correct Option - 2
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Que. 55 What is the antonym of 'possession'?

1. ownership
2. proprietorship
3. custody

4. release

5. seize

Correct Option - 4

Que. 56 Direction: Read the passage given and answer the questions that follow. Some words are
given in bold. Pay careful attention.

India has a singular mission over the next year — vaccinating the population against Covid-19. Universal
vaccination is the only way to save lives, prevent future waves, revive economic growth, send children to
school, resume social interactions and defeat the pandemic. Eligible citizens, young and old, must take both
jabs and encourage others as well.

Unfortunately, scientific reality hasn’t deterred some public figures from acting irresponsibly. A primary

example is lawyer, Prashant Bhushan, who has been consistently advising against vaccines on Twitter. With
million Twitter followers, his disregard for science can potentially sway fence-sitters who are hesitant
totake vaccines to follow suit. Misinformation about the effectiveness of vaccines foments hesitancy
at a time when various studies point to this being a significant barrier to the fight against Covid-19.
There is little to distinguish between Mr. Bhushan and Ram Kisan Yadav (Baba Ramdev) who have
both peddled misinformation about vaccines, revealing that the anti-science impulse in India makes
strange bedfellows.

Vaccination is not legally mandatory. Therefore, an individual can choose not to take the jab. But unless it is
on medical advice, this would be self-defeating. Those actively campaigning against vaccination pose a threat
to public health. Citizens should also remember that vaccination certificates will be crucial to return to a new
normal, from accessing public spaces to travel. Not getting vaccinated would not only risk one’s life but also
prevent returning to a pre-Covid-19 life. Influencers should take the jab, and if they don’t want to do so, at
least stop commenting on issues they know little about.

How does India want to save lives of its people from the pandemic?
1. by imposing lockdown and ordering people to stay at home
2. not getting vaccinated
3. universal vaccination
4. adult vaccination
5. none of these

Correct Option - 3

Que. 57 From the above passage, who has 2.2 million Twitter followers?
1. Ram Kisan Yadav
2. Prashant Bhushan
3. Baba Ramdev
4.  All of the above
5. none of these
Correct Option - 2

Que. 58 Which of the following is the closest in meaning of the word 'revive'?
1. strengthen
2. depress
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3. discourage

4. dull

5. agitate
Correct Option - 1

Que. 59 Choose the synonym of the word 'crucial':

1. minor
2. optional
3. secondary
4. essential
5. voluntary

Correct Option - 4

Que. 60 What would be the risk of not getting vaccinated?
1. prevent returning to a pre-Covid-19 life.
2. the chances of getting infected by the virus will rise
3. getting infected and may result in loss of life
4. getting infected and spreading the virus to other people as well
5. none of these
Correct Option - 1

Que. 61 Read the sentence given below to find out if it contains an error. The error, if any, will be in
one part of the sentence. if the sentence is error free, select No error or option 5. Ignore
errors of punctuation if any.

The louder the (A) clock is when (B) the needles strike (C) midnight, the better. (D) No Error (E)
1. A

2. B
3. C
4. D
5. E

Correct Option - 3

Que. 62 Read the sentence given below to find out if it contains an error. The error, if any, will be in
one part of the sentence. if the sentence is error free, select No error or option 5. Ignore
errors of punctuation if any.

I can have (A) caught the (B) bus if I (C) had hurried. (D) No Error (E)

1. A
2. B
3. C
4. D
5. E

Correct Option - 1

Que. 63 Read the sentence given below to find out if it contains an error. The error, if any, will be in
one part of the sentence. if the sentence is error free, select No error or option 5. Ignore
errors of punctuation if any.
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He put the (A) birds softly, (B) one by one, onto (C) their warm little home. (D) No Error (E)
1. A

2. B
3. C
4. D
5. E

Correct Option - 3

Que. 64 Read the sentence given below to find out if it contains an error. The error, if any, will be in
one part of the sentence. if the sentence is error free, select No error or option 5. Ignore
errors of punctuation if any.

It's high time (A) you (B) should have got(C) a job. (D) No Error (E)

1. A
2. B
3. C
4. D
5. E

Correct Option - 3

Que. 65 Read the sentence given below to find out if it contains an error. The error, if any, will be in
one part of the sentence. if the sentence is error free, select No error or option 5. Ignore
errors of punctuation if any.

Alex had (A) been hiding (B) more then(C) her father. (D) No Error (E)

1. A
2. B
3. C
4. D
5. E

Correct Option - 3

Que. 66 Read the sentence given below to find out if it contains an error. The error, if any, will be in
one part of the sentence. if the sentence is error-free, select No error or option 5. Ignore
errors of punctuation if any.

The United States (A) of America are (B) an ethnically and racially (C) diverse country. (D) No Error (E)
1. A

2. B
3. C
4. D
5. E

Correct Option - 2

Que. 67 Read the sentence given below to find out if it contains an error. The error, if any, will be in
one part of the sentence. if the sentence is error free, select No error or option 5. Ignore
errors of punctuation if any.

They never (A) went to school (B), they always (C) skip class. (D) No Error (E)
1. A

Page - 17



A w N
OO w

5 E
Correct Option - 4

Que. 68 Read the sentence given below to find out if it contains an error. The error, if any, will be in
one part of the sentence. if the sentence is error free, select No error or option 5. Ignore
errors of punctuation if any.

I'll evacuate (A) you (B) as soon as (C) it will safe. (D) No Error (E)

1. A
2. B
3. C
4. D
5. E

Correct Option - 4

Que. 69 Read the sentence given below to find out if it contains an error. The error, if any, will be in
one part of the sentence. if the sentence is error free, select No error or option 5. Ignore
errors of punctuation if any.

They're assigned with (A) human (B) mothers, Katie (C) explained. (D) No Error (E)
1. A

2. B
3. C
4. D
5. E

Correct Option - 1

Que. 70 Read the sentence given below to find out if it contains an error. The error, if any, will be in
one part of the sentence. if the sentence is error free, select No error or option 5. Ignore
errors of punctuation if any.

This is (A)/ only mistake (B)/ he has made (C)/in the essay.(D) No Error(E)

1. A
2. B
3. C
4. D
5. E

Correct Option - 2

Que. 71 Directions: The given question has one blank indicating that something has been omitted.
Choose the word for the given options that could fit in the blank correctly.

It says on the box it's for children aged three and

1.  Under

2. Over

3. Above
4. Through
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5. For
Correct Option - 3

Que. 72 Directions: The given question has one blank indicating that something has been omitted.
Choose the word for the given options that could fit in the blank correctly.

Fresh evidence has recently to light.
1. Coming
2. Come
3. Came
4. Appeared
5. Revealed

Correct Option - 2

Que. 73  Directions: Select the most appropriate word to fill in the blank.
George Bush and Tony Blair both apologize for the they caused in Iraqg.
Invitation
Celebration
Devastation

> wn e

Donation
5. Entertainment
Correct Option - 3

Que. 74  Directions: Select the most appropriate word to fill in the blank.
Spectacles can function only if there is
Eyesight
Blindness
Innocence
Abstraction
5. Ignorance
Correct Option - 1

> wn e

Que. 75 Directions: The given question has one blank indicating that something has been omitted.
Choose the word for the given options that could fit in the blank correctly.

After examining him, the doctor smiled at him and took out a syringe.
1. unkindly
2. staring

3. Immediately

4. mischievously

5. cautiously
Correct Option - 4

Que. 76  Directions: Five sentences A, B, C, D, and E are given below, You need to rearrange the
sentences so that the five sentences can together form a meaningful paragraph.

A. We often want to do big things, without understanding them.
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B. In fact, everything in life that’s remotely valuable requires a lot of work to achieve.
C. Starting a business or building a career requires effort.

D. Build a strong foundation.

E. So before we do something big, let’s start small.

Which of the following should be the FIRST sentence after rearrangement?

N e

5.

Correct Option - 1

Que. 77  Which of the following should be the SECOND sentence after rearrangement?

1.
2.
3.
4.
5.

Correct Option - 3

Que. 78  Which of the following should be the THIRD sentence after rearrangement?
1.
2.
3.
4.
5.

Correct Option - 2

Que. 79 Which of the following should be the FOURTH sentence after rearrangement?
1.
2.
3.
4.
5.

Correct Option - 5

Que. 80  Which of the following should be the FIFTH sentence after rearrangement?
1.
2.
3.
4.
5.

Correct Option - 4

A
B
C
D
E

OO

E

O O @

E

O O

E

O O w

E

A

A

A

A
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Directions: In the following passage, some words have been deleted. Select the most
appropriate option to fill in each blank.

The Congress has precluded the_ (1)___ of any honest conversation at a proposed brainstorming on its
plight by (2)__the leadership of Sonia Gandhi beforehand. Ms. Gandhi and her two children, Rahul and
Priyanka, control the party, but it would be__ (3)___to attribute the collapse of the Congress party entirely
to the Gandhi family. The meltdown of Congress has been caused by a_ (4)__ of several factors that
evolved over the decades. At the same time, the Gandhis cannot wash their hands of the_ (5)__that they
have led the Congress into. They failed to see the ground shifting under their feet and showed no imagination
or__ (6)__ towork hard. Popular leaders were routinely sidelined and a cabal of court jesters was allowed
to_ (7)__ Rajya Sabha seats and control power. Mr. Gandhi who famously did not get along with the
coterie that___ (8)___his mother built a rootless, clueless one of his own, and made some disastrous choices
such as appointing Navjot Singh Sidhu to lead the__ (9)___in Punjab. In Uttarakhand, even in the face of a
confused Bharatiya Janata Party, the Congress could not get its__ (10)___together.

Que. 81

Select the most appropriate option to fill in blank number 1.

1.  Humanity
2. Tenderness
3. Possibility
4. Charity

5. Sympathy

Correct Option - 3

Que. 82  Select the most appropriate option to fill in blank number 2.

1. Hailing
2. Trailing
3. Draining
4. Gaining
5. Training

Correct Option - 1

Que. 83  Select the most appropriate option to fill in blank number 3.

1. Obligation
2. Bond

3. Insertion

4. Sabbatical

5. Ilogical

Correct Option - 5

Que. 84  Select the most appropriate option to fill in blank number 4.
1. Altercation
2. Combination
3. Contention
4. Discord
5. Apprehend
Correct Option - 2

Que. 85  Select the most appropriate option to fill in blank number 5.
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1. Aiguille
2. Disguise
3. Reveal
4. Debacle
5. Outfit

Correct Option - 4

Que. 86  Select the most appropriate option to fill in blank number 6.
1. Willingness
2. Expression
3. Dispersion
4. Moderation
5. Excretion
Correct Option - 1

Que. 87  Select the most appropriate option to fill in blank number 7.

1. Rupture
2. Culture

3. Capture

4.  Fixture

5. Regret

Correct Option - 3

Que. 88  Select the most appropriate option to fill in blank number 8.

1. Grounded
2. Enrolled

3. Revoked

4.  lllusive

5. Surrounded
Correct Option - 5

Que. 89  Select the most appropriate option to fill in blank number 9.

1. Pattern
2. Campaign
3. Sanguine
4. Uncanny

5. Revenant
Correct Option - 2

Que. 90  Select the most appropriate option to fill in blank number 10.

1. Fact
2. Tact

3. Affable
4. Act
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5. Retaliate
Correct Option - 4

Que. 91  What should come in place of the question mark (?) in the following number series?
12, 33, 96, ?, 852, 2553

285

288

250

384

5. None of these
Correct Option - 1

oD e

Que. 92 What should come in place of the question mark (?) in the following number series?
102, 99, 104, 97, 106, ?
96
95
100
94
5. None of these
Correct Option - 2

e

Que. 93 What should come in place of the question mark (?) in the following number series?
13,14,17,22,29,?

1. 33
2. 34
3. 36
4. 38
5. 37

Correct Option - 4

Que. 94  What should come in place of the question mark (?) in the following number series?
3,6, 11, 18, 27, 38, ?

1. 45
2. 46
3. 48
4. 51
5. 49

Correct Option - 4

Que. 95 What should come in place of the question mark (?) in the following number series?
948, 474, 7, 118.5, 59.25, 29.625
1. 221
190
237
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4. 218.06
5. None of these
Correct Option - 3

Que. 96 Direction: Study the data carefully and answer the following questions.
Following is the production data by 4 persons during 2 months.

Production by 4 persons

during 2 month (in Tonnes)
=8=]anuary =#-February

. ~ 7\
=X
N

A B C D

Find the total production by A in February month and by C in January month.

1. 5tonnes
2. 5.8 tonnes
3. 6 tonnes
4. 4.8 tonnes

5. None of these
Correct Option - 3

Que. 97 Find the difference between total production done in January to that of February (in Kg).
1. 2000 kg

2. 2100 kg
3. 2500 kg
4. 2200 kg

5. Nine of these
Correct Option - 4

Que. 98  Find the ratio between production done by C and D together in January to production done by B
and C together in February.

37:32
33:31
28 :29
30:31

5.  None of these
Correct Option - 2

A
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Que. 99 Find the average of total production done in February month.

—3—— 285
2. 2.89
3. 2.65
4. 296

5. None of these
Correct Option - 1

Que. 100 Production by A in January in what % more than production by B in January (Approx)?
1. 82%

2. 76%
3. 70%
4. 90%
5. 65%

Correct Option - 3

Que. 101  What approximate value should come in the place of question mark (?) in the following question?
(1011.94 + 22.943) + (1127.88 + 2.97) = 209.98 + 6.97 x ?

1. 15
2. 45
3. 22
4. 30
5. 36

Correct Option - 4

Que. 102  What approximate value should come in the place of question mark (?) in the following question?
347.88 +28.9 x 15.98 + 143.96 = (?)° + 210.91

1. 5
2. 7
3. 9
4. 11
5. 15

Correct Option - 1

Que. 103 What will come in place of question mark “?” in the following question? (You do not have to
calculate the exact value)

75.4 x5.19 +515.30 = 314.90 x ? - 54.73

1. 8
2. 3
3. 9
4. 7
5. 1

Correct Option - 2

Que. 104 What approximate will come in the place of the question mark “?’ in the following question?
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39.789+ 159 +4.1-100 +50.2 + 12.1 x 22.78 =?
308
318
328
402
5. None of these
Correct Option - 2

PR

Que. 105 What will come in place of the question mark (?) in the following question?
160-30x2(46-16) ~4="?

1. -290
2. 219
3. 290
4. -212
5. -303

Correct Option - 1

Que. 106 The average of 11 numbers is 18. Out of these 11 numbers, the average of 9 numbers is 17. If the
ratio of the remaining two numbers is 2 : 3. What is the smaller number?

1. 27
2. 18
3. 19
4. 20
5. 15

Correct Option - 2

Que. 107  70% men of a city are literate and 20% women are illiterate and the percentage of literate children
is 80%. 7: 6: 5 is the ratio of men, women and children in that city. Find the percentage of
illiteracy rate of that city.

1. 35%
2. 45%
3. 30%
4. 25%

5. None of these
Correct Option - 5

Que. 108 5 years ago, the ratio of the ages of Mohit and Rohan was 5 : 6 . After seven years the ratio of
their ages will be 11 : 12 . find the Rohan's present age.

17 years
18 years
19 years
20 years
5. None of these
Correct Option - 1

M w DD P
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Que. 109

at 10% per annum interest.

5.

o e

Rs.

Rs

Rs.

Rs
Rs

A sum of money lent out at simple interest amounts to Rs. 6600 after 2 years and Rs. 7200 after a
period of 4 years. Find the amount of compound interest generated by the same sum after 2 years

840

. 1260

630

. 1680
. 1540
Correct Option - 2

Que. 110  How much time will take for an amount of Rs. 500 to yield Rs. 87.5 as interest at 5% per annum

5.

DN

of simple interest?

4 years

2 years

2.5 years

3.5 years
None of these

Correct Option - 4

Que. 111 A cando 3 times the work done by B in the same time. C can do half of the work done by A in the

work?
1.
2.
3.
4,
5.

same time. If C can complete a piece of work in 22 hours. In what time they all complete the same

3 hours
4 hours
5 hours
6 hours
7 hours
Correct Option - 4

Que. 112 Pipe A alone can fill the tank in 12 minutes, pipe B alone in 18 minutes and C alone can fill in 15

minutes. If they are opened together for 4 minutes, then pipe B and C are closed. Find the time

taken by A to fill the remaining tank?
2 min

5 min 2 sec

2 min 8 sec

3 min

3 min 15 sec

Correct Option - 3

1.
2.
3.
4.
S.

Que. 113 Mohan buys a hand wash bottle of 1L. He dilutes this mixture by pouring it into a 2 L bottle and

filling it with water to the brim. He then takes out eight half-litre bottles and filled each half-

litre bottle to its half and rest of the way with water. Find the ratio of hand wash to water in the eight half-
litre bottles made from 2 L bottle.

1.

2.
3.
4

1:

3:
4:
3

3

1
3
8
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5 1:8
Correct Option - 1

Que. 114 |f the volume and curve surface area of the cylinder is 616 m? and 352 m? respectively. What is
the total surface area of the cylinder ?

1. 429m?
2. 345 m?
3. 400 m?
4. can't be determined

5.  None of these
Correct Option - 1

Que. 115 A boat moving downstream 28 km in 4 hours and upstream 20 km in 5 hours. Find the ratio
between the speed of the stream and speed of a boat in still water

1. 3:11
2. 11:13
3. 8:3
4, 8:11
5. 3:8

Correct Option - 1

Que. 116 Direction: Read the following information carefully and answer the following questions.
Statement I- There are 220 students studying in college A and college B. Students from 3 cities i.e Patna,
Delhi and Mumbai study in these 2 colleges.

Statement I1- Ratio of total number of students in college A and total number of students in college B is 6 : 5.
Number of students of Mumbai who studies in college B is 30% of total number of students of college B.

Statement I11- Number of students of Mumbai who studies in college B is 75% of number of students of
Patna who studies in college A.

Statement IV- Number of students from Delhi who studies in college B is 62.5% of the number of students
from Patna who studies in college A. Ratio of students from Patna in college B and number of students from
Mumbai who studies in college A is 9 : 10.

Find the total number of students studying in college A from Delhi and Mumbai.
85
75
90
80
5. None of these
Correct Option - 4

Eal A

Que. 117  Which city has the most number of students studying in both colleges?

1. Patna
2. Delhi
3.  Mumbai
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4. Both Patna and Mumbai
5. Both Delhi and Mumbai
Correct Option - 1

Que. 118 Find the difference between total number of students from Patna to that of Delhi.
1. 35

2. 30
3. 45
4. 50

5.  None of these
Correct Option - 2

Que. 119 Nymber of students from Patna in college A is what % of total number of students in college B?
1. 40%

2. 45%
3. 35%
4. 60%

5. None of these
Correct Option - 1

Que. 120 Find the ratio of number of students from Delhi in college A to that of college B.
1. 4:5

2. 3:4
3. 6:5
4. 5:3

5. None of these
Correct Option - 3

Que. 121 Direction: Refer to the pie chart given below.

The following pie charts show distribution of expense to construct a building. Total cost of
construction is Rs 900000.
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Total cost of construction = Rs. 9,00,000

. Labour H Steeal D Brick

£ sand ] cement [l other

What is the total amount spent on Brick, Sand and cement.

Rs. 2,70,000
Rs. 5,40,000
Rs. 1,80,000
Rs. 3,60,000
5. None of these
Correct Option - 4

> wn e

Que. 122  The amount spent on labour is how much more than the amount spent on other work.

1. Rs. 1,00,000
2. Rs. 2,40,000
3. Rs. 1,80,000
4. Rs. 3,60,000

5. None of these
Correct Option - 3

Que. 123 What is percentage amount spent on Brick, Labour and other work to the total cost of

construction?

1. 65%
2. 40%
3. 10%
4. 50%
5. 60%

Correct Option - 4

Que. 124 Difference of amount spent on steel to the amount spent on the sand is what percentage of the

total cost of construction?

1. 15%
2. 10%
3. 5%
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4. 8%
5.  None of these
Correct Option - 3

Que. 125 What is the amount spent on Labour?

1. Rs. 1,80,000
2. Rs. 5,40,000
3. Rs. 3,60,000

4. Rs. 2,70,000
5.  None of these
Correct Option - 4

Que. 126 In the given question, two equations numbered | and Il are given. You have to solve both the
equations and mark the appropriate answer.

1.3x?-8x +4=0
1. 6y2 - 7y -10=0
1. x>y
2. X<y
3. X2y
4. x<y

5. Either x =y or Relationship between x and y cannot be established
Correct Option - 5

Que. 127 In the following question two equations are given. You have to solve the equations and mark the
answer accordingly.

l.x?—21x +68=0

1. y? — 31N7y + 1050 = 0
1. x>y

2. X<y

3. x>y

4. x<y

5. x =y or relation between them cannot be established
Correct Option - 5

Que. 128 In the given question, two equations numbered I and Il are given. Solve both the equations and
mark the appropriate answer.

. 7x? + 15x +8 =0

Iy2+y/2-1/2=0

X>y

X<y

Xzy

X<y

5. x =y or the relationship between x and y cannot be established.

Correct Option - 4

M w DD P
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Que. 129 In the given questions, two equations numbered | and Il are given. You have to solve both the
equations and mark the appropriate answer

. X2 - 25x + 156 = 0
I y2 - 23y +132=0
X<y
X>y
X<y

NP

X>y
5. x =y or the relation between x and y can't be established.
Correct Option - 4

Que. 130 In the given question, two equations numbered | and 11 are given. You have to solve both the
equations and mark the appropriate answer-
l.x2+V5x—30=0
1. y2 - 5V6y + 36 =0
X>y
X<y
X>y
X<y
5. x =y or relationship between x and y cannot be established
Correct Option - 2

Mo Db -

Que. 131 Directions: Study the following bar graph carefully to answer the following questions.
The bar graph shows the number of paper printed by different machines on Monday and Tuesday

Number of Paper printed by 4 Machines on Two

5000 § 8

4000 \ \ S N
3000 § § § §
2000 § § § §
e N N N N\

M Monday ' Tuesday

Find the average of the total number of papers printed on Tuesday.
4425
4375
4450
4280
4190

a k~ w D RE
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Correct Option - 3

Que. 132  Number of papers printed by D on Tuesday is what % less than number of papers printed by A on

5.
Correct Option - 1

oo Re

Monday?

12.5%

16.66%

8.33%
8.25%
6.25%

Que. 133  Find the difference between the total number of papers printed by machine B and machine C on

5.
Correct Option - 4

DR

500
700
800
600
300

Que. 134
1. 23
2. 25
3. 55
4. 48
5 24:

Correct Option - 2

given days.

Find the ratio between the total number of papers printed by machine A and machine D on given

days.
: 25
023
- 48
: 55

23

Que. 135 The number of papers printed by machine B on Monday is what % less than that of machine D on

5.
Correct Option - 3

Eal A

Monday?

14%
15%
12%
18%
10%

Que. 136  Direction: Each question followed by the two statements 1 and 2, we have to determine whether

the statements are sufficient to answer the question or not.
Find the number.

Statement 1: The sum of two digits of the number is 8.

Statement 2: After exchanging the place of the digit, the new number becomes 18 greater than the actual
number.

1.

If the data given in statement 1 alone is sufficient to answer the question whereas the data given in

statement 2 alone are not sufficient to answer the question.
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2. If the data given in statement 2 alone are sufficient to answer the question whereas the data given in
statement 1 alone are not sufficient to answer the question.

3. If the data given in either statement 1 or in statement 2 alone is sufficient to answer the question.
4. If the data given in both statements 1 and 2 are not sufficient to answer the question.
5. If the data are given in both statement 1 and 2 are necessary to answer the question.

Correct Option - 5

Que. 137 The compound interest after 5 years will be?
Statement 1: The sum is Rs. 5000 taken at a rate of 5% per annum.
Statement 2: The simple interest after one year is Rs. 250

1. If the data given in statement 1 alone is sufficient to answer the question whereas the data given in
statement 2 alone are not sufficient to answer the question.

2. If the data given in statement 2 alone are sufficient to answer the question whereas the data given in
statement 1 alone are not sufficient to answer the question.

3. If the data given in either statement 1 or in statement 2 alone is sufficient to answer the question.
4. If the data given in both statements 1 and 2 are not sufficient to answer the question.
5. If the data are given in both statement 1 and 2 are necessary to answer the question.

Correct Option - 1

Que. 138 Find the weight of the new person?
Statement 1: The average of the 5 persons is 65 kg.
Statement 2: One more person joins the group, then the new average weight becomes 68 kg

1. If the data given in statement 1 alone is sufficient to answer the question whereas the data given in
statement 2 alone are not sufficient to answer the question.

2. If the data given in statement 2 alone are sufficient to answer the question whereas the data given in
statement 1 alone are not sufficient to answer the question.

3. If the data given in either statement 1 or in statement 2 alone is sufficient to answer the question.
4. If the data given in both statements 1 and 2 are not sufficient to answer the question.
5. If the data are given in both statement 1 and 2 are necessary to answer the question.

Correct Option - 5

Que. 139  Find the first number if the second number is 16,
Statement 1: The LCM of the number is 240.
Statement 2: The HCF of the number is 2.

1. If the data given in statement 1 alone is sufficient to answer the question whereas the data given in
statement 2 alone are not sufficient to answer the question.

2. If the data given in statement 2 alone are sufficient to answer the question whereas the data given in
statement 1 alone are not sufficient to answer the question.

3. If the data given in either statement 1 or in statement 2 alone is sufficient to answer the question.
4. If the data given in both statements 1 and 2 are not sufficient to answer the question.
5. If the data are given in both statement 1 and 2 are necessary to answer the question.

Correct Option - 5

Que. 140 Determine the total cost to paint all walls of the cuboid.
Statement 1: The perimeter of the cuboid is 30 m
Statement 2: The cost of painting is Rs. 25 per meter square.
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1. Ifthe data given in statement 1 alone is sufficient to answer the question whereas the data given in
statement 2 alone are not sufficient to answer the question.

2. If the data given in statement 2 alone are sufficient to answer the question whereas the data given in
statement 1 alone are not sufficient to answer the question.

3. If the data given in either statement 1 or in statement 2 alone is sufficient to answer the question.
4. If the data given in both statements 1 and 2 are not sufficient to answer the question.
5. If the data are given in both statement 1 and 2 are necessary to answer the question.

Correct Option - 4

Que. 141 Headquarters of which bank are located in Karnataka ?
1. Canara Bank
2. IDFC Bank
3. Citi Union Bank
4. Bandhan Bank
5. Lakshmi Vilas Bank
Correct Option - 1

Que. 142  Prime Minister Narendra Modi unveiled a plaque for the foundation stone of a new helicopter
manufacturing unit of Hindustan Aeronautics Limited (HAL) in Tumkur district in

Kerala

Tamil Naidu

Maharashtra

Andhra Pradesh
5. Karnataka

Correct Option - 5

> wn e

Que. 143  Which bank launched the country's first mortgage guarantee-backed home loan product, that will
expand the credit amount and increase the tenure for an additional fee as well?

ICICI
HDFC
AXis
BOB
5.  None of the above
Correct Option - 1

il

Que. 144 PMKSY has been approved for implementation across the country with an outlay of in
five years.

Rs. 80,000 crore
Rs. 25,000 crore
Rs. 20,000 crore
Rs. 50,000 crore
5.  Rs. 10,000 crore
Correct Option - 4

M w DD P

Que. 145 In which state of India would you come across the hill stations of Ooty and Kodaikanal?
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Tamil Nadu
Karnataka
Kerala
Maharashtra

5. Andhra Pradesh
Correct Option - 1

Hw e

Que. 146 The ‘Stand Up India Scheme’ launched recently focuses on which of the following?
1. SC/ST and Women Entrepreneurs
2. Muslim Entrepreneurs
3. Young Entrepreneurs
4.  Women Entrepreneurs
5. None of the above
Correct Option - 1

Que. 147 Lima is the capital of

1. Brazil
2. Peru
3. Ecuador

4, Colombia
5.  None of these
Correct Option - 2

Que. 148 103rd Indian National Science Congress is being held at?

1. Mysore
2. Bangalore
3. Mumbai

4. Kolkata

5. Delhi

Correct Option - 1

Que. 149 was a first micro-finance bank which got fully convertible in schedule
commercial bank.

1. Cholamandalam Distribution Services Limited
2. Bandhan Bank

3. Vodafone m-pesa Limited

4. Citibank

5. Union bank

Correct Option - 2

Que. 150 For which novel Kate Atkinson has won this year’s prestigious Costa Novel Prize?
1. A God in ruins
2. Emotionally weird
3. Behind the Scenes at the Museum
4. One Good Run
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5. Case Histories
Correct Option - 1

Que. 151 India began the 4th Joint Military Exercise, 'MITRA SHAKTI 2016' with which country?
1. Sri Lanka

2. Oman

3. Indonesia
4, USA

5. Canada

Correct Option - 1

Que. 152 Who has resigned from the post of President of the Board of Control for Cricket in India (BCCI)?
1. Sunil Gavaskar
2. Shashank Manohar
3. Shivlal Yadav
4. R K Patel
5.  Ramprakash Mehra
Correct Option - 2

Que. 153 Indian Financial System comprises of
1. Scheduled Commercial Banks
2. Non-Banking Financial Institutions
3. Urban Co-operative Banks
4.  All of the above
5. None of these
Correct Option - 4

Que. 154 What is the projected growth for India by World Bank for 2016-17?

1. 7.0%
2. 1.6%
3. 7.8%
4. 8.0%

5.  None of the above
Correct Option - 2

Que. 155 As per RBI guidelines on tap universal banking licence, the bank should have minimum paid-up

voting equity capital of Rs. crore.
1. 500
2. 1000
3. 350
4. 200
5 755

Correct Option - 1
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Que. 156 Basic Savings Bank Deposit Account (BSBDA) is a Zero Balance Savings Account that takes
' care of your simple banking needs with Free ATM card, monthly statement, and cheque book.
What is the maximum withdrawal and transfer limit under BSBDA for a month?

1. Rs. 10,000
2. Rs. 20,000
3. Rs. 25,000
4. Rs. 50,000
5. Rs.1,00,000

Correct Option - 1

Que. 157  Which of the following bank has launched IndPay mobile app service?
1. Indian Bank
2. State Bank of India
3. Central Bank of India
4. Bank of India
5. Punjab National Bank
Correct Option - 1

Que. 158 The theme for the 2017 World Day of Social Justiceis __
1. Preventing conflict and sustaining peace through decent work
2. A lJust Transition — environmentally sustainable economies and societies
3. Greening the Blue
4. A Society for All
5. Social Justice in an Open World
Correct Option - 1

Que. 159  Which financial body has instituted new system Suspicious Transaction Reports (STRs) for
reporting suspicious trades?

IRDA
SEBI
BSE
NSE
5.  None of the above
Correct Option - 3

M

Que. 160 ‘Smart Vault’, an automated Digital locker facility is launched by?

1. HDFC
2. ICICI

3.  YES Bank
4. Canara Bank
5. SBI

Correct Option - 2

Que. 161 Who has been awarded the Central Banker of the Year Award for the year 2016?
1. Aditya Kotak
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Chanda Kochhar
Raghuram Rajan
Shikha Sharma
5. Anil Narayan
Correct Option - 3

N

Que. 162 Who is the Chief Executive Officer (CEO) of the Wipro Group?
1. Vishal Sikka
2. Abidali Z. Neemuchwala
3. Rishad Premji
4.  Azim H. Premji
5. None of these
Correct Option - 2

Que. 163 Who has become the first batsman to score 1000-plus runs in an innings in any form of cricket?
1. A.B. de Villiers
2. Virat Kohli
3. Younus Khan
4. Misbah-ul-Haq
5. Pranav Dhanawade
Correct Option - 5

Que. 164 India Post Payments Bank is the entity to receive payments bank permit from the RBI.
1. 4th
2. 3dd
3. 2nd
4. 5th
5. 1st

Correct Option - 2

Que. 165 The New Bank of India has been merged with which bank?
1. State Bank of India
2. Central Bank of India
3. Punjab National Bank
4. Canara Bank
5. Union Bank of India
Correct Option - 1

Que. 166  Which of the following was the currency of Greece prior to Euro?

1. Franc

2. Greek Dollar
3. Drachma

4. Rouble

5.  Forint
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Correct Option - 3

Que. 167 The government has made it mandatory to quote PAN card for all transactions above what

amount?
1. 50K
2. 100K
3. 200K
4. 300K
5. 500K

Correct Option - 1

Que. 168 According to RBI guidelines, the term “Bulk Deposit” is used for single Rupee Term Deposit of

Rs. 25 lac and Above
Rs. 75 lac and Above
Rs. 1 crore and Above
Rs. 50 lac and Above

5. Rs. 10 lac and Above
Correct Option - 3

DR

Que. 169 assumed charge as the Governor of the Reserve Bank of India in September 2016.
1. Dr. Rakesh Panagariya
2. Dr. Rakesh Mohan
3. Dr. Raghuram Rajan
4. Dr. Urjit R. Patel
5. None of these
Correct Option - 4

Que. 170  Which of the following states has launched e-VahanBima Scheme?
1. Rajasthan
2. Gujarat
3. Karnataka
4. Telangana
5. Andhra Pradesh
Correct Option - 4

Que. 171  Which is of the following countries is hosting the 2015 South Asian Football Federation Cup?
1. India

2. Sri Lanka
3. Bangladesh
4. Maldives

5. Indonesia
Correct Option - 1

Que. 172
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BHEL has commissioned 660 MW supercritical unit of Lalitpur Super Thermal Power Project

(STPP) in which state ?
1. Jharkhand
2. Bihar
3. Haryana
4.  Uttar Pradesh
5. Chattisgarh
Correct Option - 4

Que. 173 Where is Buxa National Park located?
1. Odisha
2. West Bengal
3. Madhya Pradesh
4. Bihar
5. Rajasthan
Correct Option - 2

Que. 174 Which company has acquired a popular app, Masquerade?
1. Twitter

2. Weibo
3. Facebook
4. Google
5. MySpace

Correct Option - 3

Que. 175 Jishnu Raghavan, who recently passed away was a .

1. Sportsperson
2. Journalist

3. Writer

4.  Actor

5. Businessman
Correct Option - 4

Que. 176 Money can be transferred using mobile phones through the service called

1. NEFT
2. ECS

3. IMPS

4. RTGS

5. CARE

Correct Option - 3

Que. 177  As per PMAY-G, how many houses will be constructed by 2019?
1. 75 lakhs
2. 50 lakhs
3. lcrore
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4, 2crore
5.  None of the above
Correct Option - 3

Que. 178 Shishu, Tarun and Kishor Schemes of Government of India are associated with which sector?
1. Health

2. Banking
3. Micro Unit Business Development
4. Education

5.  None of the above
Correct Option - 3

Que. 179 2016 Climate change conference is scheduled to be held in

1. China
2.  Germany
3. India

4, None of the above
5. Russia
Correct Option - 4

Que. 180 RBI today said it will announce small finance bank licences next month. What is the minimum
paid-up equity capital for small finance banks?

10 Cr
50 Cr
100 Cr
500 Cr
5. None of the above
Correct Option - 3

o bd -

Que. 181 HTML is used to create a:

1. Web server
2. Word document
3. Web page
4. Database

5. None of the above
Correct Option - 3

Que. 182 Communication between a computer and a keyboard involves transmission.
1. Automatic
2. Half-duplex
3. Full-duplex
4.  Simplex

5. Transitive
Correct Option - 4
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Que. 183  With respect to internet forms, World Wide Web (WWW) is a collection of

1.
2.
3.
4.
S.

Hyperlinked document
E-mail
Mailing list
Hypertext markup language
All of these

Correct Option - 1

Que. 184 Which type of computers is used to control air traffic and radar of national defence?

1.
2.
3.
4.
5.

Hybrid computers
Personal computers
Analogue computers
Digital computers
None of these

Correct Option - 1

Que. 185 DVD technology uses an optical media to store the digital data. DVD is an acronym for
1.
2.
3.
4.
5.

Digital Vector Disc
Digital Volume Disc
Digital Versatile Disc
Digital Visualization Disc
None of the above

Correct Option - 3

Que. 186 What does 'S’ stand for in ISP?
1.
2.
3.
4.
5.

Service
Sources
Select
Server
Sketch

Correct Option - 1

Que. 187 Main Goal of Operating System is to provide the Interface between:
1.
2.
3.
4.
5.

user and the hardware
software and hardware
program and memory
main memory and user
None of these

Correct Option - 1

Que. 188 Which of the following is NOT an example of application software?
1.
2.
3.

Word processing
Computer graphics
DOS
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4. Spread Sheet
5. All of the above
Correct Option - 3

Que. 189  Where is newly received email is stored?

1. Your website
2. Address-box
3. Inbox

4. Your personal laptop
5. None of these
Correct Option - 3

Que. 190 The red cross button which is use to close the window or any program . Where does it is located
on the computer screen?

Menu bar
Tool bar
Title bar
Scroll bar

5. None of these
Correct Option - 3

e

Que. 191 tool is used to add a visual effect such as shadow, glow or reflection to your text.
1. Customizing effects.
2. Custom Watermark
3. Hyphenation.
4. Texteffect
5. None of these.
Correct Option - 4

Que. 192 Folder may contain:
1. Files and sub folders
2. Only files
3. Only sub folders
4.  None of the above
5. Only movies

Correct Option - 1

Que. 193 Itis a set of computer programs used on a computer to perform tasks

1. An instruction
2. Software
3. Memory

4. A processor
5. None of these
Correct Option - 2
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Que. 194 Which OS is made by the famous Apple Inc. of the United States of America?
1. Safari

2. Mac

3. Windows
4. UNIX

5. Linux

Correct Option - 2

Que. 195 Which browser is an inbuilt browser in windows?

1. Internet explorer
2. Google chrome

3. Netscape

4.  Firefox

5. None of the above
Correct Option - 1

Que. 196 A is approximately one billion bytes.
1. kilobyte
2. bit
3. gigabyte
4. megabyte

5. None of these
Correct Option - 3

Que. 197 What kind of a device is trackball?
1. Programming device
2. Pointing device
3. Output device
4. Software device
5. Printing device
Correct Option - 2

Que. 198 The intersection of row and column is known as

1. Column
2.  Value

3. Address

4. Cell

5. None of these
Correct Option - 4

Que. 199 The box where we can type the URL in the browser is called
1. Status bar
2. Textbar
3. Address bar
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4. Scroll bar
5.  None of the above
Correct Option - 3

Que. 200 Which among the following is NOT an operating system ?

1. Android
2. i0S

3. Windows

4. Router

5. Vista

Correct Option - 4
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